CLASS : 10th (Secondary) Code No. 103
Series : Sec/Annual-2023

Roll No. SET : C
T

MATHEMATICS
(Academic/Open)
[ =T wd Sfstt arem |
[ Hindi and English Medium |
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

T77 : 3 §°¢ | [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 FeT-UH 4 FRa g 15 T F97 34 &)
Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 questions.
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The Code No. and on the right side of the question paper should be written by
the candidate on@e front page of the answer-book.

o FYF J9T H TV TG P& T H Yeer, 9T H B AT [T

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & diF 4@l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U Fo7 % FUT 37 @ Y4 I€ Ghaa # @ [ 59T-74 {7 7 @@ & Yher 3 U 54
T 7 g 4 qrar w@hwe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT sfard &

All questions are compulsory.

(ii) 5 F97-UF 7 FT IANIIT & T G GVl o § G T H T E -

This question~puper consists of 34 questions in all which are divided into

four Sectioris': A, B, Cand D :

G - o7 : 57 G 7 1 @16 T 7 16 97 &, J% 597 1 7 & &1
Section = A : There are 16 questions from 1 to 16, each of 1 mark.

G- §: 359 % F17 722 7% 37 6 J97 &, J9% J97 2 9% # &I

Section - B : There are 6 questions from 17 to 22, each of 2 marks.
G - ;59 G5 723 § 30 7% 7 8 97 &, J9% 97T 4 5 & &1

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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(3) 103/(Set : C)
%€ - 757 G 431 @34 7% T 4 97 &, J9% F97 5 5 F &l

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(i) G- 7 & go7 7 ofani® fawey /7 79 81 37 @ & 597 B g &

Section - D contains two questions where internal choice have been
provided. You have to choose one of them.

gug — 3
SECTION - A
1. Fr=fafag & @ s9-91 9@ ay 78 & ? 1
A) 18 (B) 16
(C) 1.25 (D) /36

S
Which of the followin%é\not a rational number ?
Q‘Z)-

() 18 @SQ B) 16
(©) 125 (D) /36
2. I 120 X 225 H.C.F. 158, A ST L. C. M. & : 1
(A) 1600 (B) 1800
(C) 2000 (D) 2200
103/(Set : C) P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(4) 103/(Set : C)
If H. C. F. of 120 and 225 is 15, then their L. C. M. is :

(A) 1600 (B) 1800
(C) 2000 (D) 2200
3. forgell (-1, -1) X (4,2)F & H Fq ® - 1
®) V32 B is
€6 (D) 34
The distance between the points (-1, —1) and (4, 2) is :
® V32 B is
€6 (D) 34

.@
4. Qﬁffwaﬂﬁﬁ@&@!@ﬁ324%@'ﬂ1ﬁﬁg,ﬁﬁﬁﬂﬁ%%ﬂ%daﬁfdﬁgqldgi
& 1
A) 3 :2 $® (B) 3:4
(C) 9:16 @ (D) 16:9
If corresponding sides of two similar triangles are in the ratio 3 : 4, then ratio of
their areas are«

A) V3 :2 (B) 3:4
(C) 9:16 (D) 16:9

5. &Y 0 I BrogaEve 1 8% ® ¢ 1
Tr O nr29
A 1500 B Tsoe
©) nr26 (D) nr29
90° 360°
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Area of sector of the circle of angle 0 is :

(A) nr 0 (B) nr2e
180° 180°
©) nre (D) nr2e
90° 360°
6. I T g P& O #% a fhell g0 W PA &R PB TsRET &R 80° & &7 T g
g, a ZPOA S ® : 1
(A) 60° (B) 50°
(C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then ZPOA is equal to :

(A) 60° (B) 50°

(C) 70° (D) 80°

&
7.%@2.1%&@&@%@%@%&%%: 1
N
(A) 80.3 A4 $®Q (B) 191.5 {41
Q
(C) 55.44 U1 (D) 47.09 41

Surface area of sphere of radius 2.1 cm is :

(A) 80.3 cm? (B) 191.5 cm?
(C) 55.44 cm? (D) 47.09 cm?
8. frdl g &l @@ I/ ........... forg/ fargalt WX v Tl 21 1
A tangent to a circle intersects it in ............. point(s).
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(6) 103/(Set : C)

9. 6sec’A-6tan’ A H 9N 2 : 1
(A) 6 (B) 1
€ 9 (D) 7

The value of 6sec? A—6tan? A is :

(A) 6 (B) 1
€ 9 (D) 7
10. T 4x? -4x+1 & J9F © : 1
1 1 1
A L 1 (B) 5 "o
1 1 1
3! Phas
O
The Zeroes of Polynomi%%x2 -4x+1 are:
1 fz}% 11
Wty B =32
1 @ 1 1
@ 3! P 2o
11. Frafafead § Sig-ar @ fZem @ ? 1

(A) (x-1) (x+3)=(x—=7) (x+5)
(B) (x+4)> =3x(x+1)

(C) (@x-1) 2x+ 1) = (x-2)?
(D) 4x2+5=(2x+7)>
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Which of the following is a quadratic equation ?
(&) (x-1) (x+3) = (x~7) (x+5)

(B) (x+4)° =3x(x+1)

(C) (@x-1) 2x+1)= (x-2)?

(D) 4x2+5=(2x+7)>

12. g% THETT & FH x— 2y + 3 = 0 T 3x— 6y + 9 = 0 H & BT : 1
(A) e Th &
(B) ®& & T
(C) STURMT % &
(D) FH & FIF T
Q

Q
Solution of a pair of lingé}\%quations x—2y+3=0and 3x—-6y+ 9 =0 will be :
. OO
(A) Unique solut
@
(B) No solutio%

(C) Infinitely many solutions

(D) None of these

13. A.P.3,7,11, 15, .....% 1247 98 & : 1
(A) 39 (B) 49
(C) S2 (D) 47

103/(Set : C) P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(8) 103/(Set : C)
The 12th term of the A. P. 3, 7, 11, 15, ..... is :

(A) 39 (B) 49
(C) S2 (D) 47
14. IR fH A. P. & 90 ] AT I8 HAT: 4 AR -8 2, O IHH Bedl T 2 1
(A) -6 (B) -2
(C) -8 (D) 14

If 3rd and 9th term of an A. P. are 4 and —8 respectively, then its 6th term is :

(A) -6 (B) -2
(C) -8 (D) 14
Q
15. 3t ¥ DE ||BC®l EC BRI 1

O

R 1.5?/\2@1
\
$Q <D E

$ ) '
?ﬁ/
B C
In figure DE |[|BC. Find the length of EC.
A
1.5 C}/\z cm
D E
37/
B C

103/(Set : C)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(9) 103/(Set : C)
16. 39 fag & Fdaie, S gl (4, -3) @1 (8, 5) & SIS did IWRTS H A=<k &7 4

3:1% Igu H foir e &, € 1
A (3,9 (B) (4, -2)
€ 6.7 (D) (7,3)

The coordinates of the point which divides the line segment joining the points
(4, —-3) and (8, 5) in the ratio 3 : 1 internally are :

A) (3,9 B) “4,-2)
< B&,7) (D) (7, 3)
g\\g\i\ g - g
»
\Q‘G SECTION - B
@Q\
N
17. TEC 6 7++/5 UH SURAT & B 2

Show that 7 + \/g is an irrational number.

18. 52 TWl % TV TER Bl B Th AT H TgSl § § TH G MU A 31 A T H@
T 91l T 1T XA el HIedT F hitorg| 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a red face card.
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19.

20.

21.

22.

(10) 103/(Set : C)
k® 68 a9 & e e @iieter 2 —kx+9=0 & Y@ T B ? 2

For what value of k the roots of the quadratic equation x2-kx+9=0 are

equal ?

U fg P A i 3 B Brewr Al 99 & %= § 5 8 1 g W B, 39 g9 W W &
Si=l RN E 2

Find the length of the tangent from a point which is at a distance of 5 cm from

the centre of the circle of radius 3 cm.

T & ague S S S rEE B AN a9 O A 43R 18 2

Find the quadratic polynomial, the sum and product of whose zeroes are 4 and

1 respectively.

N
k%mm%m%@%wwﬂuﬁ%mwaﬁ? 2
&Q‘b
N\ (k= 1)x + (k+ )y = 3k - 1

$

2x+3y="7

For what value.of k does the following pair of linear equations have infinite
number of solutions ?

(k=1)x+(k+ 1)y=3k-1

2x+3y=7
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grE - g

SECTION - C
23. IR A, BR CRIYs ABC & sfaam &, @ fawmy fF : 4

. (B+Cj A
sinl =cos 7

If A, Band C are interior angles of a triangle ABC, then show that :

) (B+Cj A
S1n| = COS —
2 2

&
24. 10 I B9 99 B SEl BE X TH GBI I 21 G PruEs w1 ashd
| FRT N 4

>
A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the

area of the corresponding sector.

25. TF T H U&H I) Bepl Sl &1 Wil Sd HivTe 6 o §e ¢ 4
(i) U 9T HET ¥,
(ii) U fawm e R
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26.

27.

28.

29.

(12) 103/(Set : C)

A die is thrown once. Find the probability of getting :
(i) a prime number,

(i) an odd number.

Q%ﬁqv—rr%s‘raﬁ%,aaw%a#ﬂﬁlmw%aﬂ?agiﬁaﬁ%,maﬁ
8 g faar <m B a8 R 3 @it 4

. 1 . .
A fraction becomes 5 when 1 is subtracted from the numerator and it becomes

% when 8 is added to its denominator. Find the fraction.

=T TaEma @Hiehor & il i Tebicl S IO A Gl I HAR@ &, @ & 91 i : 4
2x% -6x+3=0

$
Find the nature of ro%@f the following quadratic equation. If real root exist,
then solve it : \Q‘Z)-
N 2
@ 2x“-6x+3=0
o Sft arclt el gea 7 & fawew ¥ 7 4

How many three digit numbers are divisible by 7 ?

10 #f T % H¢l & dOR W febm W 9 W 8 W %l Hor W R & Ragal @&
TR B AR & oMER @ &t & e R @ g S ik 4

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from the base of the wall.
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30. P& 7AW §@ &M, AR g A2, 3), B2, P 3R C(6, -3) W& B 4

31.

Find the value of Pif the points A(2, 3), B(2, P) and C(6, —3) are collinear.

gug -

SECTION -D

o Rge Brer 3.5 & 9 T S & AR M g, S IE Bl AW T SN W)
FERING 21 39 fgam @ dgf Sar 15.5 &N 21 39 Redw @& dyel g e S
By 5

A toy is in the form of a cone of radius 3.5 cm mounted-on a hemisphere of same
radius. The total height of the toy is 15.5 cm. Find the total surface area of the
toy.

Q
Q
N

e
OR

N

B 4.2 A AR ETg F-Th W B NI Be 6 AW A O o $ &9 F @ o

Bl I B S A BT

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a
cylinder of radius'6 cm. Find the height of the cylinder.

32. ffoRad aRelt 35 W &1 derar X (iR #) 9 &1 ATy AR & 69 S 2 5
HERAT & (% H) 45-55 55-65 65-75 75-85 85-95
TR & qe& 3 10 11 8 3
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literacy rate :

(14)

103/(Set : C)

The following table gives the literacy rate (in %) of 35 cities. Find the mean

Literacy rate (in %) 45-55

55-65 65-75

75-85

85-95

Number of cities 3

10 11

33. 7 Hio % 9aq & RER § Th dad oY & RFER & IET ST 60° & AR 6B UG &l

JTGTHT BT 45° B AT P Hag F0d BT

From the top of a 7 m high building, the angle of elevation of the top of a cable

tower is 60° and the angle of depression of its foot is 45°. Determine the height

of the tower.

g FifTT

1+sin®

OR

cos 9

cos 0
Prove that :

1+sin®

—— =2secH
1+sin®

cos® =2secO

cos 0
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(15) 103/(Set : C)
34. 6 QU Bl & TF g WifET q° d= § 10 9 ¥ R U g § g9 W weRar 3 &
T BT T I TR A 5

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.
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